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Fl 2% | F) 2% F M R R R R A R ) Fl 2% | B 2% F A E R

L % % % % % % % % % % 5]
LT it i E AL 5 AO0.0 AO0.0 AO0.0 AO0. 2 21.5 22.1 ANO0. 7 AO0.0 AO0.0 2.1
H fos AL.0 0.7 1.2 2.4 4.3 18.9 19.4 A0.5 0.3 0.6 2.0
o) + A0.0 0.7 0.4 1.7 1.1 21.1 21.1 A0.0 0.4 0.3 1.6
fil =1 Ik 0.7 1.5 0.7 7.2 3.4 25.3 25.0 0.3 0.7 0.3 2.3
X 5] N0.5 A0.5 AN0. 6 N4 5 A4.9 21.1 21.3 A0. 2 0.2 A0.3 2.1
& i 2 3.6 3.7 4.2 8.9 10.3 18.6 16.7 1.9 2.0 2.3 1.8
& = AN0.9 0.8 1.0 14.2 17.2 21.8 22.2 A0. 4 0.3 0.4 2.6
A 0.1 1.0 0.9 .2 3.9 21.8 21.7 0.0 0.5 0.4 2.1
*® Ik AL T 1.8 2.2 7 8.1 20. 6 21.4 AO0. 8 0.8 1.0 2.2
B i /N 0.1 3.9 3.8 12.2 11.8 21.1 21.0 0.1 1.7 1.6 2.4
# Bt 5 AN0.9 1.5 1.5 5.3 5.7 19.5 20.0 A0. 4 0.7 0.8 2.0
By ES AO. 4 2.1 1.4 7.5 .2 20. 9 21.1 A0. 2 1.1 0.7 1.9
f& E<T) = 0.2 1.1 0.5 3.9 T 21.6 21.5 0.2 0.9 0.4 1.3
B E i A2.5 Al.2 A2.1 A5.2 A9. 1 21.9 22.9 AL.0 A0.5 A0.9 2.3
ooy AN0. 6 1.6 1.2 5.7 4.2 21.0 21.3 A0.3 0.8 0.6 1.9
T # 0.4 1.7 1.7 10. 1 9.9 21.5 21.3 0.2 0.7 0.7 2.3
" R s A3.8 Al.8 A2.4 AN42.3 A54.9 22.3 24.0 AL T A0.8 Al 1 2.2
i 7= JI AN4.2 0.2 0.0 N2.7 AO0. 1 22.5 23.8 Al.3 .1 0.0 3.3
I il F4 A0.5 0.8 AL.0 5.2 A6. 1 19.9 20. 2 A0. 2 4 A0. 4 2.3
R A2.8 A0. 4 A0. 8 AT.8 A15.5 22.1 23.2 Al 1 A0. 2 A0.3 2.5
) L 0.7 2.2 1.5 7.6 5.3 18.8 18.4 0.5 1.4 1.0 1.6
& el JI .3 1.1 1.0 103. 8 90. 1 19.0 18.9 0.1 0.5 0.4 2.4
R g 3 AN0.3 0.6 0.1 3.5 7 23.0 23.2 A0. 2 0.4 0.1 1.5
R 0.2 1.3 0.9 8.5 .8 20.0 19.9 0.1 0.7 0.5 1.9
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153 B 0.6 1.2 1.2 5.0 .2 18.0 17.6 0.4 0.7 0.7 1.7

# i [if] 1.2 2.1 1.8 10.7 .3 24.2 23.6 0.6 1.0 0.8 2.1
G £ 0.3 1.5 1.0 19.5 12.2 21.9 21.7 0.1 0.7 0.4 2.3
= = ES 1.9 2.8 2.1 8.7 4 20. 8 20. 1 0.7 1.1 0.8 2.6
ooy 0.8 1.8 1.4 10.6 4 22.1 21.7 0.4 0.8 0.6 2.2

A 7}? A0. 4 A0. 2 A0.9 AN0. 7 A3.7 18.8 19.1 A0.3 AO0. 1 AN0.7 1.3

s Pl AN0.5 1.7 1.8 2.7 .9 20. 2 20.5 A0.3 1.2 1.2 1.5

X N 53 A3. 1 0.7 0.8 2.7 .1 17.1 18.4 Al1.3 0.3 0.4 2.3
s JiE AO0.8 0.6 0.0 1.7 .1 19.3 19.7 AO0. 4 0.3 0.0 1.9

| & B 1.5 3.2 2.9 6.9 1 23.1 22.1 1.0 2.2 2.0 1.5
o B 1N 2.9 4.1 4.2 9.9 10.2 19.5 18.2 1.3 1.9 1.9 2.2

R Al.3 1.2 1.1 3.3 2.9 18.5 19.2 A0. 6 0.6 0.5 2.0

)= Jifd N2.5 AO. 2 A0.3 A0. 6 A0. 8 21.8 23.6 Al.8 AO0. 1 A0. 2 1.4

TS 5 R 4.7 3.8 4.2 66. 3 73.1 19.9 17.1 2.8 2.2 2.4 1.7
[if] 1N 2.8 2.8 2.7 16.5 16.2 19.4 18.2 1.2 1.2 1.1 2.4

Jis = 4.9 3.8 3.2 17.1 14.2 25.3 23.1 2.2 1.7 1.4 2.3

H il M AN0. 6 1.0 1.5 16.5 23.3 16.8 17.0 A0. 2 0.4 0.6 2.5
o) 2.6 2.7 2.6 15.7 15.2 21.2 19.9 1.2 1.2 1.2 2.1

il 5 A3.0 4.9 4.8 22.0 21.8 13.3 14. 1 A0. 8 1.3 1.3 3.6

= = | 0.3 1.3 0.9 8.4 5.7 17.2 17.1 0.1 0.6 0.4 2.1
= % Al.9 Al.5 A0. 6 AN6. 7 A2.8 16.9 17.6 AO0. 8 AO0. 6 A0. 3 2.5

Fax =) Esn 0.4 1.9 1.4 12.6 9.2 17.9 17.7 0.2 0.8 0.6 2.5
S A0.9 0.5 0.7 2.7 3.6 16.7 17.1 A0. 4 0.2 0.3 2.5

B 15 fif] .5 2.3 2.1 15.5 14.2 25.6 25. 3 0.2 1.1 1.0 2.1
H Vi s .6 2.0 2.0 4.8 4.8 21.3 20. 1 1.2 0.9 0.9 2.2
i E 7 A2.1 2.2 2.6 5.7 6.5 17.4 18.6 Al 1 1.2 1.3 1.9
S AO0. 1 2.2 2.2 8.6 8.6 22.6 22.6 AO0. 1 1.1 1.1 2.1

HE 7N Al.6 0.2 0.2 8.3 8.3 20.5 21.2 AO0. 7 0.1 0.1 2.3

HE X 4y 0.1 1.1 0.7 4.3 2.7 23.2 23.1 0.1 0.7 0.5 1.6
= 7 A0.0 1.2 1.2 5.8 6.0 20. 6 20. 6 A0.0 0.7 0.7 1.7

N Jii2 ) = 3.7 5.0 4.9 18.9 18.3 21.7 20. 2 1.5 2.0 1.9 2.6
R 1.0 2.3 2.1 11.7 10.8 21.5 21.1 0.5 1.1 1.0 2.1

£ A0.5 1.2 1.0 5.6 4.6 21.1 21.4 A0. 2 0.6 0.4 2.1
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= 7t k= & wH oW o k& o Lo W OE % E & o ok
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L % % % % % % % % % % %
M v 1 1 78.5 8.8 0.3 0.3 82.9 17.1 4 27.6 - 41.2 58.8
i P 81.1 7.8 0.2 0.3 83.0 16.7 0.0 49. 7 - 37.0 63.0

=l + 78.9 7.7 0.3 0.0 82.5 17.5 0.2 35.1 - 37.8 62.2

fil = 729 74.7 10.6 0.2 0.1 77.3 22.7 - 24.0 - 13.7 86. 3
77 &3] 78.9 8.7 0.1 0.1 81.8 18.2 0.0 66. 1 - 34.0 66. 0

4 i Z 81.4 7.1 0.2 0.2 82.0 18.0 0.0 71.1 0.2 41.8 58.0
& = 78.2 9.6 0.4 0.1 84.6 15.4 0.1 35.1 0.2 35.0 64.8

DA 78.2 8.9 0.3 0.1 82. 2 17.7 0.1 40.9 0.1 33.9 66. 0

K 779 79. 4 8.8 0.1 0.5 83.9 16.1 0.0 26. 7 - 31.2 68. 8

B Ui PN 78.9 8.2 0.3 0.5 83.3 16.7 - 46. 6 - 35.5 64.5
#r | B 5 80.5 8.7 0.2 0.1 83.9 16.1 - 39.6 - 47.2 52.8
g ES 79.1 9.0 0.2 0.2 83.2 16.8 0.0 32.0 0.2 35.8 64.0

& | ) 78. 4 8.8 0.5 0.2 79.7 20. 3 0.1 58. 3 - 29.7 70. 3
w |LE L2 78.1 8.8 0.3 0.1 82.3 17.7 0.0 44.1 - 41.8 58. 2
Wy 79.0 8.8 0.3 0.2 82.5 17.5 0.0 39.8 0.0 36.6 63. 4

T E 78.5 9.0 0.3 0.5 83.2 16.8 0.0 35.7 - 46.5 53.5

R " o 77.7 10.2 0.5 0.5 80.9 19.1 0.0 44.8 0.5 27.1 72.4
Zii = JI 77.5 9.8 0.6 0.2 82.8 17.2 0.1 41.2 0.0 28. 4 71.5

iy 1N Al 80. 1 8.2 0.4 0.1 84.7 15.3 0.0 42.5 0.5 47.0 52.5
A 77.9 9.7 0.5 0.4 82. 1 17.9 0.0 41.7 0.3 32.0 67.7

=1 i 81.2 6.1 0.1 0.2 83.7 16.3 0.1 59. 3 - 49.7 50. 3

| 5 JII 81.0 7.5 0.1 1.0 81.9 18.1 - 52.3 0.3 30.5 69. 2
R = I 77.0 8.7 0.1 0.0 80. 7 19.3 - 41.2 - 54. 1 45.9
DA 80.0 7.5 0.1 0.6 82. 2 17.8 0.0 51.2 0.1 41.1 58. 8
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53 B 82.0 7.5 0.3 0.4 82.3 17.7 - 70. 8 - 45.5 54.5

g2 % ] 75.8 9.5 0.3 0.1 80.9 19.1 0.6 38.5 - 40. 2 59. 8
i = i 78.1 7.6 0.2 0.1 81.6 18. 4 0.0 40. 4 - 41.9 58. 1
2 = & 79. 2 7.6 0.1 1.0 83.2 16.8 0.6 37.6 - 27.0 73.0
oo 77.9 8.3 0.2 0.2 81.7 18.3 0.2 43.7 - 41.0 59. 0

14 = 81.2 6.9 0.9 0.2 82.0 18.0 - 68.5 - 45.6 54. 4

jiiy B4l 79.8 7.9 0.2 0.8 81.6 18.4 0.0 58.9 - 18.2 81.8

S X 3 82.9 7.5 0.2 0.1 83.7 16.3 0.0 55.9 - 46. 6 53. 4
s J#E 80. 7 7.7 0.2 0.1 82.6 17.4 .0 43.1 0.1 22.3 77.6

B 75 B 76.9 8.2 0.4 0.0 78.7 21.3 - 52.0 - 12.7 87.3
fn K h 80. 5 7.4 0.4 0.1 85.3 14.7 0.0 56. 3 - 61.6 38.4
oo 81.5 7.6 0.3 0.2 83.0 17.0 0.0 53.7 0.0 38.1 61.8

5 i 78. 2 11.8 0.7 0.9 78.8 21.2 - 64.0 10.8 25.8 63.4

1 = Uik 80. 1 7.1 0.3 0.1 81.7 18.3 0.1 62. 4 - 48.9 51.1
] i 80. 6 6.8 0.2 0.1 83.9 16. 1 - 51.0 - 20. 1 79.9

Jis = 74.7 10. 4 0.2 0.1 78.0 22.0 - 49. 1 0.2 57.0 42.8

E% (L M 83. 2 6.5 0.8 0.1 85. 7 14.3 0.0 66. 5 - 19.4 80. 6
FoH 78.8 8.4 0.4 0.2 81.8 18.2 0.0 56. 1 1.0 36. 2 62. 8

7 5= 86. 7 6.4 0.3 0.0 88.9 11.1 - 44.7 8.1 28.2 63. 7

= & I 82.8 5.6 0.2 0.1 87.1 12.9 0.1 50. 2 - 29.8 70. 2
= 1% 83.1 6.5 0.2 1.2 85. 4 14.6 0.1 51.6 - 28.3 71.7

S ] i 82. 1 7.2 0.2 0.1 85. 7 14.3 0.2 52.2 - 27.6 72. 4
ooy 83.3 6.4 0.2 0.6 86. 3 13.7 0.1 50. 5 0.9 28.5 70. 6

B & fif] 74. 4 8.8 0.2 0.5 82. 2 17.8 0.2 35.3 0.1 42.1 57.8
% = i 78.7 6.9 0.2 0.2 84. 1 15.9 0.1 42.9 5.9 32.1 62.0
I £ 7 82.6 6.8 0.3 0.6 86. 6 13.4 0.2 59. 0 0.1 61.6 38.3
ooy 77. 4 7.9 0.2 0.5 84.3 15.7 0.2 43.5 0.8 49. 1 50. 1

fE ZiN 79.5 8.5 0.2 0.0 81.5 18.5 0.5 35.8 - 33.9 66. 1

HE X g 76. 8 11.0 0.2 0.0 81.2 18.8 - 39.0 - 42.9 57.1
=1 7 79. 4 8.2 0.2 0.1 81. 4 18.6 - 41.1 - 26. 6 73.4

ZN Jiia e = 78.3 8.3 0.2 0.8 83.7 16.3 - 35.0 - 37.3 62. 7
oo 78.5 8.9 0.2 0.4 82.3 17.7 0.1 36. 7 - 36. 1 63.9

4 78.9 8.6 0.3 0.3 82.7 17.3 0.2 43.1 0.3 37.1 62. 6
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JFi EE pE fh & Ho& AR & H & 4
B E F R SR n oS I L = < 5 el = R
bl Bl #z | [ #iE = RO [E g & 2
L =] =] =] ] % % % % %
e it 1 E 3.6 19.6 42. 4 9.1 107.3 55.5 254. 7 93.6 328.3 48.8
H e 4.0 11.3 27.0 7.0 169.3 86.3 174. 4 69.7 252.0 42.8
Fe) + 3.1 16. 1 30. 8 4.3 151.0 71.7 136.9 73.5 161. 8 41.0
fil =1 Ik 3.6 22.6 37.1 10.9 132.1 83.7 304.0 85. 2 378. 1 55.6
K H 4.1 14. 1 40.3 18.6 97.0 59. 8 455.7 98.5 790. 8 54.9
& 1K iz 3.2 13.8 22.5 4.5 145. 2 89.0 140. 4 79.0 144. 1 30.9
5 =3 5.2 16.9 26. 8 42. 8 88.9 46. 6 820. 7 109. 5 572.2 57.5
¥ 3.9 16. 1 30. 2 9.0 118.8 64. 8 230. 9 84. 8 329.7 48. 6
*® Ik 3.8 12. 4 34.9 8.0 153.0 76.3 210. 6 78.4 270. 1 57.7
i i A 5.0 14.2 30.0 7.4 136.0 80.0 147.3 76.7 211.5 48.8
e yizs )53 3.7 12.2 32.9 7.5 120.0 55. 4 203.8 87.5 265.5 46. 2
bz ES 3.1 18.1 32.3 7.0 116.7 60. 8 224. 4 91.1 266. 6 53.6
f& i ) 2.0 16.7 23.1 4.6 127.0 89.2 225. 4 88.6 251. 1 47.1
o & g 3.9 14.8 33.3 10. 1 99. 4 49.0 259.5 94.7 329. 6 53.8
DA 3.3 15. 1 30.8 7.0 122.2 67.2 214.8 87.7 263.0 51.3
T e 4.0 18.6 48.6 13.8 90. 9 46. 8 346. 6 106. 0 494. 6 60. 6
R " Iy 3.7 19.1 37.7 51.6 85.5 47.8 1,392. 4 111.2 217.6 63.6
i = JII 6.3 22.0 57.3 A52.5 77.3 34.2 A\831.8 122.8 686. 8 78.8
" i ks 3.8 14. 4 39.0 14.5 99.5 41.0 378.3 99. 6 543.0 56. 3
ooy 4.3 19.5 44.6 47.5 85.0 43.5 1,095. 6 111.4 795. 2 66. 1
=] (L 2.6 11.5 16.7 5.5 131.5 69.3 213.9 85.2 247. 1 53.4
& sl JII 4.2 20.8 20.3 224. 4 109.8 72.3 5,287.1 92.7 383.3 59. 6
7 H: 2.4 12.8 17.5 8.2 82.5 51.7 333.6 107. 1 437.6 44. 4
ooy 3.1 15.2 18.5 12. 4 104. 8 64. 2 397.8 94. 3 568. 4 52.9
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53 B 3.3 14.6 23.5 7.1 100. 1 60. 0 218. 4 96. 5 315.3 50. 1

# i fifl 3.6 17.2 44.5 11.2 140. 4 71.8 306. 0 81.6 421.8 58.7
G £ 4.0 16.0 35.5 29. 3 91.7 45.5 737.2 104. 2 1,177.8 72.9
= = i 6.5 21.7 29. 3 8.2 166. 4 118.2 125.5 60. 6 210.3 38.9
FAE" 3.9 16.6 34.9 13.1 111.2 60. 2 337.7 90. 2 504. 2 61.3

i3 7}? 2.6 18.9 16. 1 5.4 104. 8 73.1 207.6 93.5 302. 3 51.0

jry e 2.3 16.9 34.5 2.3 182.2 122.6 100. 4 79.3 57.3 23. 4

X PN 1553 3.6 16.5 30. 1 8.4 109. 4 54. 1 232.9 94. 6 261.8 54. 3
I i 2.8 18.1 33.8 5.3 89.5 43. 4 185. 2 103. 6 180. 3 40. 7

e | = B 4.5 6.0 25.2 3.1 231.0 140. 7 68. 7 45.6 111.9 41.7
o B (L 4.6 12.6 12.6 5.3 198. 1 124.9 115.1 64. 4 143.3 43. 4
T 3.3 14.8 26.9 5.4 124. 4 69. 5 163.5 87.5 173.1 45. 1

5 Jiig 3.1 19.2 8.9 4.0 134. 4 82. 8 129. 8 75.1 187.3 39.8

TS 5 R 4.1 11.8 13.2 29.9 105. 8 72.9 734. 1 89. 8 1,634.8 48.9
[if] (i 4.6 14.7 36.9 14. 1 89. 4 40. 7 304.5 101.6 490. 5 60. 3

JE 1= 3.6 23.9 28. 8 10. 1 109. 9 66. 7 281.9 93. 4 344.9 54.9

5 i m 6.6 17.9 20. 4 40. 8 139.9 74.7 617.9 67.7 1,503.6 58.9
o) 4.2 17.4 21.1 12.6 112.2 65. 1 299. 6 87.8 488.7 54. 0

Tl 5 8.3 15.8 46. 2 16.4 118.0 62. 7 197.6 81.7 353.4 20. 4

= 7= J 3.5 14.0 32. 1 13.2 80.5 42.3 380. 3 112.2 524. 4 54.3
= % 4.7 12.8 24. 7 10.8 83.1 43.7 232.3 120. 1 338.9 50. 4

Fax = s 5.3 11.1 28.3 16.4 115.1 43.7 311.5 85.9 555. 1 58.2
S 4.7 12.9 28. 7 12.9 91.3 44.9 275. 4 106. 2 418.3 50. 5

| & [i] 3.4 22.5 38. 1 14.6 124. 4 50. 2 424. 7 88.6 583.0 64. 3
I (o 4.0 15. 1 28.0 5.2 121.2 68.0 131.7 86. 7 136. 2 36.9
i E i 3.9 15. 2 14.7 .9 141. 4 91.9 123.6 75.1 155. 4 32.8
¥ 3.6 18.7 24. 8 .0 130. 3 67.7 219.7 84.1 286. 4 50. 8

HE i 4.5 16.8 28.9 125.9 102. 0 54. 1 2,777. 17 96. 2 5, 355. 4 67. 2

HE X 4y 2.8 13.1 18.3 .0 140. 1 89. 4 213.0 80. 8 283.7 53.5
= 7 2.9 17.6 41.9 .5 169. 9 109. 8 288.5 77.4 391.6 61.6

N Jii2 ) = 4.9 15.3 40. 2 .6 138.3 74.6 195.8 77.7 275.3 49. 8
T 3.9 15.4 30. 3 10.7 130. 6 75. 4 271.5 81.9 405. 2 56. 6

£ 3.8 16.6 31.0 10.2 110.5 59. 8 270.5 91.4 375.3 54. 2
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5 I A A SR o #H|E L &l o' K| {81
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Al 5 b |58 L RIRE| B R Ak | R 28 | R | o ok g | AN P B APIMIGEE  APDMBREAT | 2 *

L A A A A A A A % % %

e it 1 H 1,397 300 A10 A0 164 661 123 11.8 24.8 7

T #* 1,293 245 A6 4 142 646 101 11.0 22.0 1

A + 1,526 322 A0 6 182 928 117 11.9 19.6 .5

fil izt I 1,376 349 4 9 203 606 146 14. 7 33.5 .1

% H 1, 366 288 A3 A3 180 654 119 13.2 27. 4 .0

& il A 1,484 276 29 30 184 809 105 12. 4 22.8 .2

& = 1,492 325 N5 5 187 584 144 12.6 32.1 .6

S %) 1,436 313 0 7 184 689 128 12.8 26.7 .9

w K 1,632 336 A13 14 218 750 144 13.4 29. 1 .0

B A 1,534 324 1 25 199 648 126 13.0 30.7 .5

| BE o5 1,653 323 AT 12 199 808 144 12.0 24.6 4

B ES 1,478 309 A3 16 206 769 133 14.0 26.8 .3

RN i) 1, 641 355 3 14 218 1, 247 144 13.3 17.5 .3

= Lig 1, 354 296 Al4 AT 153 577 119 11.3 26. 6 .6

A 1,524 319 Nb 12 199 788 134 13.0 25.2 .3

T % 1,480 317 3 11 188 637 132 12.7 29.5 .5

R H i 1,639 365 A28 Al13 204 736 167 12.5 27.8 .5

i = JI 1,443 325 A19 1 183 436 142 12.7 41.9 4

5 1N ksl 1,904 380 A4 7 197 844 156 10. 3 23.3 4

ooy 1, 550 342 A17 A3 193 619 150 12.5 31.2 .8

=1 1 1,310 247 6 18 154 833 80 11.8 18.5 .0

| A ) 1,437 274 2 7 155 607 108 10. 8 25.5 1

& H 1,455 335 A3 6 181 960 126 12.4 18.9 .6

ooy 1, 407 282 2 10 161 757 105 11.5 21.3 .2
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53 B 1,384 249 5 10 155 808 104 11.2 19.2 66. 8

# i fifl 1,489 360 8 14 204 696 141 13.7 29.3 69. 4
G £ 1, 404 307 2 9 161 611 107 11.4 26.3 66.5
= = icy 1, 267 264 9 14 143 482 96 11.3 29. 7 67. 1
FAE" 1,417 312 5 11 173 656 117 12.2 26. 4 67.8

i3 7}? 1,670 314 A5 A2 178 1,251 115 10. 7 14.3 64. 7

jry e 1,156 233 A4 13 152 780 91 13.1 19.5 59.9

X N 53 1, 686 288 A23 5 184 722 127 10.9 25.5 68. 9
I i 1,396 269 A6 5 159 744 107 11.4 21.3 67.5

e | = B 1,343 311 14 30 198 922 110 14. 7 21.4 55.4
o B (L 1, 547 302 21 29 188 706 115 12.2 26.7 60. 8
By 1,513 280 A10 9 175 770 115 11.6 22.8 65. 7

5 Jiig 1,007 220 A18 Al 155 730 119 15.4 21.3 76. 7

TS 5 R 1,199 238 33 27 150 695 85 12.5 21.6 56. 8
[if] (i 1, 654 320 19 19 193 692 112 11.7 27.9 58.2

JE = 1,502 380 33 25 244 664 156 16.3 36. 8 64.0

H (L A 1,542 259 A4 6 149 606 100 9.7 24.6 66. 8
o) 1,438 304 18 18 191 670 121 13.3 28. 4 63. 4

Tl 5 1,509 200 Al13 20 150 418 97 .9 35.8 64.9

=5 | & )| 1,642 282 2 10 150 776 92 .1 19.3 61.6
= 5% 1,482 250 All A9 135 601 97 1 22.4 71.7

2 = s 1, 244 223 2 10 132 496 89 10.6 26.6 67.7
S 1,458 244 A5 3 139 588 94 9.5 23.6 67.6

B ] 1,211 310 3 13 164 565 106 13.5 29.0 64. 6
I (o 1,036 221 12 10 110 469 72 10.6 23.5 65. 1
i E i 1,710 298 A19 20 186 900 116 10.9 20.7 62. 4
¥ 1,302 294 Al 14 161 630 103 12.4 25.6 64. 1

HE i 1,179 242 A8 1 139 511 100 11.8 27.3 72.0

HE X 5y 1, 374 319 1 10 197 877 151 14.3 22.5 76.9
= 7 1,169 241 A0 8 140 675 96 12.0 20.8 68. 6

i Jii2 ) = 1, 541 334 22 30 201 603 128 13.0 33.3 63.6
S 1, 351 291 6 15 174 638 120 12.8 27.2 69. 0

4 1,453 307 A4 8 179 680 125 12.3 26. 4 69. 6




